
Class -4th 

Ex. 2.1 

Q4. In an election-------place. 

Sol. No. of people who cast their vote = 500775 

No. of people who didn’t cast their vote = 36421 

The total population of that place =50075+36421=537196 

Q5. A book store-------together?  

Sol. Sale of books  in 1st week = ₹ 85198 

Sale of books in 2nd week = ₹76094 

Sale of book in 3rd week = ₹ 14253 

Total sale for three weeks = ₹ 85198+₹76094+₹14253=₹175545 

Q6. Consider a 6- digit-----number?  

Sol. 6-digit no. =537984 

The no. Increased by =168412 

The new 6-digit no. =537984+168412=706396 

Q7. Mr. Robin -------------now?  

Sol. Money in bank account=₹207459 

Money deposited on Monday=₹ 12560 

Money deposited on Tuesday=₹100350 

Total money in his account = ₹207459+₹12560+₹100350=₹320369 

Note:- Do Q1, 2,3 in your book and Q8 in homework.  

 


